O6nacTb:
MicTo:
PaitoH:

MikpopaiioH:

Apapeca:

Cekuisi:

KaHanisauiHa
Tpy6a:

N2

110 000 3 HawumMKn 2 % Y BepecHi 3 poku

LliHa 3a M2 100%

~$

Xntomumpcbka
Xutomunp
Xutomunp

LleHTp

MucTeubki
BopoTta

HoBo6yposa ID 4446

XXutnoewuit komnnekc: MucTteLbKi BopoTa

LliHa Ha 100%

~$

Twn CTiH:

Twun onaneHHsA:

Bup, 3 BikHa:

Knac »xutna:

Appeca: —
3a6yf0BHUK: —
Tun 06'eKTy: HoBobynoBa
CraH: €BpPOPEMOHT
MoBepx: 10316
KiMmHaTu: 2
Tun KimHaTK: Okpemi
DinaHka: 79
KomeHTap

. MNopaToK OpiEHTOBHO 6-7 TUCAY Y.0.

MoHoniT

EnekTpuyHe



